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J| 2,095,110
< 40,532,062
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= 3,270,236
J| 2,095,110
=) 40,487,652
AsdMARTS 390,000 1,155,000 AT765,000
Sits otd Y & FSHOS 90,000 105,000 A 15,000
201 24l 30,000 30,000 0
01 At 2t 2l 30,000 30,000 0
Osdts &8y 23 g, 88 30,000
403 MtXISHE X201 E 60,000 75,000 A 15,000
01 X SHHAN2E= 60,000 75,000 A 15,000
OZZsYHM XA 60,000
NEE Q& MAALE X 300,000 0 300,000
403 A X EHHS =0l A 300,000 0 300,000
01 X EHHMA=LEE 300,000 0 300,000
ONSE Q& MaAld X& 300,000
A0S IIBrEH 8,195,619 12,323,346 N4 127,727
= 1,483,236
J| 1,821,110
= 4,891,273
ANEAHBEHAMD 681,450 593,000 88,450
202 O4dl 2,700 3,000 A 300
01 = LH 4 Hi 2,700 3,000 A 300
OAMERN & Mol=7 gdRF2 2,700
403 X SHHE A0l & 678,750 590,000 88,750
01 XM A=2EE 678,750 590,000 88,750
OAEZ30N 3 165,000
otlgsoteA s 438,750
OJUAIE Jlsd H2XM XX 75,000
HAR =2 HH ML 1,481,300 1,472,000 9,300
202 044l 2,700 3,000 A 300
01 = LH o4 1l 2,700 3,000 A 300
ODNHRXMHA CHEMA HRFA 2,700
307 gl2tol & 800,000 800,000 0
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403 UHXSHHSA=0l& 294,600 285,000 9,600
01 X HHMA=ZLE L 294,600 285,000 9,600
OASRLEAE 4 294,600
DX = Y Fs 140,000 0 140,000
403 XSS =0l & 140,000 0 140,000
01 X SHMA2E X 140,000 0 140,000
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st Mat - 28 1,567,700 1,431,750 135,950
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403 HtXISHH S0l & 1,565,000 1,428,750 136,250
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Out==ZHANMI 135,000
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OL=MES HEAE 218,750
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OntY SSHEAAHY 2= 40,000
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J| 23,640
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01 XIS AS2E X 30,732 9,750 20,982
OS3F M= ES SHAY 30,732
J| 23,640
& 7,092
O A0 =H N2 29 3,000 0 3,000
201 LBt ]| 3,000 0 3,000
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= 960,000
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= 4,192,900
sEMdsHZ 1,273,200 651,250 621,950
202 O4dl 4,500 5,000 A 500
01 = LH 4 bl 4,500 5,000 A 500
OsSHSHREY Y2 4,500
307 21201 A 200,000 200,000 0
04 QIZFHALAIH B = 200,000 200,000 0
OSSHE Y L JHSHA 200,000
308 A EHHSOIA 1,007,500 298,250 709,250
01 HXNHHBHEELS 847,500 168,250 679,250
O2ZEEE 2ZXA 24,000
OFZZL Y HAL NE 22,500
oORH= 4= 0E=2 30,000
Os&S 2o &bl K& 420,000
ONASE FHAANES 2ZEFE XNE 351,000
10 B3I/ 2S0HUHSZAEEALS I 160,000 130,000 30,000
Osal HifEdst XA 160,000
403 XSS X201 & 61,200 148,000 286,800
01 X SHHA2E= 61,200 148,000 286,800
OZZELE AILEHl K& 18,000
OZZECL Jtsdgy K& 43,200
MRARSIIBEY 636,250 500,500 135,750
202 o4dl 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
OUX=E Jlgtx=d F2=X 3,000
403 A X EHHS =0l A 633,250 497,500 135,750
01 X SHHAN2E= 633,250 497,500 135,750
OMXRE MEAHA 476,250
O=s&2 ZTEM XA 90,000
OsdttEs Rs&Hl XN& 19,000
OsdsE ZTHHAE AIEHEAS 48,000
sSNUESUBHEH2SE 251,000 244,000 7,000
201 L4l 9,200 2,000 7,200
01 At 2t 2l 8,200 1,000 7,200
OdZHEH 33 2¢ 1,000
OXSHH IIAXA 2tAH 2EHI 7,200
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202 Od4dl 1,800 2,000 A 200
01 = LHA YI 1,800 2,000 A 200
OXSHH gRF2 1,800
308 XXM SOIA 240,000 240,000 0
10 B2 SUHUE3AHAE A I 240,000 240,000 0
OL3E s=SU=d3dH 29 240,000
SSsHEH (2) 1,228,800 1,053,170 175,630
= 960,000
< 268,800
308 XX EHHSOIA 1,228,800 1,053,170 175,630
= 960,000
= 268,800
01 HXNHHBHELS 1,228,800 1,053,170 175,630
O=s & EHl 1,228,800
= 960,000
< 268,800
SUSHAENA(HFE)(=2) 400,000 458,000 A 58,000
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< 200,000
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OstSANERR (YY) 400,000
J| 200,000
< 200,000
SUSOHAENA(KNE)(=2) 50,000 39,000 11,000
J| 50,000
308 XXM SOIA 50,000 39,000 11,000
J| 50,000
01 IXNSHHBANEES 50,000 39,000 11,000
O=saS0HAE X (XIH) 50,000
J| 50,000
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01 AXHHBILEES 33,750 22,500 11,250
o=Y ZZM XN& 33,750
403 A X EHHSH=0IA 630,000 13,500 616,500
01 XM A= E L 630,000 13,500 616,500
ozY st HdES3=HAH = 630,000
M =E HEs 780,000 300,000 480,000
307 izl & 300,000 300,000 0
02 It M AHEE 300,000 300,000 0
OUXI=E HZaAY 300,000
308 X XIEHHSOIA 300,000 0 300,000
01 X HHILEES 300,000 0 300,000
OsgEdE T X L HH 300,000
403 UHXSHHSA=0l& 180,000 0 180,000
01 XM= LE L 180,000 0 180,000
OAPC Al E & 180,000
ANesstE 25 =0 70,000 0 70,000
307 glz2+ol & 20,000 0 20,000
02 It MAHEE 20,000 0 20,000
o=dsIt &G 20,000
308 XtXIEHH SOl A 50,000 0 50,000
01 AXHHILEES 50,000 0 50,000
o=m=<dxg L8 K& 50,000
TEHsE Y Z2A NE 16,200 0 16,200
308 MtXIEHMSOIH 16,200 0 16,200
01 HXNHHNBHEES 16,200 0 16,200
ozZgsitE AEE FA XE 16,200
sAFMHEEY 989,640 1,616,700 A 627,060
= 331,000
J| 24,000
= 634,640
SMHSHEESH 52,000 40,000 12,000
307 glz2tol & 40,000 40,000 0
04 DIZHHALALSE E X 40,000 40,000 0
OAZ 3 FHIMKH 40,000
308 XXM SOIA 12,000 0 12,000
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01 AIKSHMEAMNEX= 12,000 0 12,000
oXeyg H32UX 4 N 12,000
AMEMY 45 XS 225,000 165,000 60,000
403 XX SHHS K20l A 225,000 165,000 60,000
01 XIS A2E X 225,000 165,000 60,000
OsASMY 43 XIS 225,000
MNESE 2 114,100 112,500 1,600
201 et d| 30,000 30,000 0
01 AR 22l ] 30,000 30,000 0
O=s+=E4t2 21503 8 30,000
202 o4 | 3,600 4,000 AN 400
01 =Ly 01t 3,600 4,000 400
OSAZERAS PR3 3,600
308 XAXIGHHM SO0l & 80,500 78,500 2,000
01 HXHHIMNEXZ 80,500 78,500 2,000
OsMECHE A A A 36,000
OZXNAMBEASH X 44 500
GAPRIZ= =D CHE A AHl XI)(=21D) 293,800 390,000 N 96,200
2 226,000
& 67,800
308 XHXIEHSOIA 293,800 390,000 N 96,200
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& 67,800
01 AIKISHHEMNEXZ 293,800 390,000 AN 96,200
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= 226,000
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(OFSE=ES a3 22449 & 19,200
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= 120,000
< 120,000
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